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Unit 8.5 Finding Zeros of a Polynomial Advanced PRACTICE

Name

reserved.

State the possible rational zeros for each function. Then factor each and find all zeros.

1) f(x)=5x"+15x"

Possible rational zeros:

—4x® —12x* —9x - 27

+1,+3,£9,+27 +—,ii,i2,i2—7
5 5 5 5
Factors to f(x) (x+3(5x2 9)(x +1)
3

3) f(x)=3x" + 15x*

Possible rational zeros:

—4x® —20x* - 15x - 75

+1,+3,£5,£15,£25,£75, %
Factors to: f(x):(x+5)(

Zeros: {—5, \/g, —\/E, i\éE’ - i\/g

5) f(x) =25x" + 5x* + 220x° + 44x% — 45x - 9

Possible rational zeros:
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2) f(x) =3x" — 15x* + 5x°

Possible rational zeros:

—25x>+2x-10

+1+2+5+10+1i i% 13—0

2
3
Factors to: f (x) ( )

(3x* +2)(x* + 1)
iNe N6
Zeros: {5, , — 3 , 0, -1

4) f(x)=5x*-3x*- 14

Possible rational zeros:

\S)

il,iz,i7,il4,il + ,iz,iﬁ
5 5575

Factors to: f(x) = (5x2 + 7)(x2 - 2)

Zeros: i\/sg, - i\/g, \/E, —\/E

5

(9]

6) f (x) =15x°
Possible rational zeros:
13,1
5 5 15
Factors to: f( ) (3x - 1)(x2 — 3)(5x2 — 1)

Zeros: ;, \/g,—\/g ALl —75

—5x* —48x% +16x* +9x -3

>

il,i3,ili
3
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7 f(x)=3x"+8x+5

iNis  iNis

Zeros: , — L=
3 3
9) f(x)z x> —3x" —8x° +4x? - 8x+4
Possible rational zeros:
PRI L R e L
2273737376
Factors to: f( ) (2 ( - 2)(3x2 + 2)
1 N6 iN6
Zeros: {—, \/E, —\/E, l\/i !
2 3 3
3= 10x* + 11x% = 55x% + 5x = 25

1 f(x)=
Possible rational zeros:

1 25

— i -

2’ 2

Factors to: f( ) = ( )(x + 5)(2x2 + 1)

Zeros: {5, i\/g, —i\/g, 1\2/59 - 1\2/5

+1,£5,+£25,+ é
27

13) f(x)=10x° — 5x* + 28x> — 14x* — 6x + 3

Possible rational zeros:

1 3 1 3 1 3
1,43, x>k £ £— £ —

22 5 5 10 10
Factors to: f(x):(2x—1)(5x2 1)(x +3)
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8) f(x)=2x*+3x*-27

Possible rational zeros:
9 27
Lt
2’7 2

Factors to: f (x) ( ) 2x% + 9)
3iN2

Zeros: \/g,—\/g, 31;/7,— 5

o W

+1,+3,+9,+27, +l +
2’

10) f(x)=5x*+23x2-10
Possible rational zeros:

il,iZ,iS,ilO,il,ig
575

Factors to: f( ) = (Sx2 - 2)( 2y 5)

1010 5,5

Zeros:

12) f(x)=2x*-9x2-35
Possible rational zeros:

il,iS,i7,i35,il,i§,iZ,i3—5

22 2 2

Factors to: f(x :(2x2+5 (x2 —7)
V10 iV 10

Zeros: ! 5 ,—l > ,\/;,—\/7

14) f(x)=3x" —15x* + 2x° = 10x2 = x + 5

+

w\m

1
Possible rational zeros: +1,+5, + §

Factors to: f (x) = (x - 5)(x2 )
-3 N3

Zeros:
3

2‘Made with Infinite A 1gebra 2.



